Sideboard

Assembly Instructions

B
i

o
T

Please scan the code and view the
YouTube installation video.

[=]

g




VI.

. Two people are recommended for ease in the assembly of this product.

. The two main types of hardware used to assemble this product are screws

General Assembly Guidelines

Ensure that all parts and hardware are available before beginning assembly.

Follow each step carefully to ensure the proper assembly of this product.

and bolts.

A Phillips head screwdriver is required for the assembly of this product.

Power tools should not be used to assemble this product.

il




Parts List

%Panel
%Shelf plate

Back plate

Left side plate

0

Front bezel/ \ /

% Base plate
Z J U igﬁ L-shape feet
| J
\

Right side plate

\

Left door

Right door




g Hardware List A
1 @6x40 Cam bolt 12 pcCs
5 @8x40mm Wooden dowel 8 pcs
3 @15x11mm Cam lock 12 pcs
4 Corner Brace 4 pcCs
5 Door Hinge 4 pcs
6 @3.5x13mm Screw 16 PCS
7 @6x16mm Bolt 12 pcCs
8 Gasket 12 pcCs
9 S4 Hex Key 1 pcs
10 0 g @5x40mm Screw 4 pcs
1 o3 @5x20mm Shelf holder 4 pes
12 @ Corner Brace 4 pcs
13 \\\\W @4x12mm Screw 16 pcs
14 '»)“"’W @4x20mm Screw 4 pcs
15 W @3.5x13mm Screw 8 pcs
2 ~. \
.16 Corner Brace 4 pcs |
| ‘
L7 @4x18mm Screw 4 pcs i
i 18 ‘!T Ball Bolt 4 pcS i
i 19 (e @6x52mm Screw 4 pcs i
i 20 @8mm Plastic Expansion Bolt 4 pcCSs i
E 21 Wire 2 pcs /:
o @ Philips head screwdriver required for assembly
K\@ (not included)
The hardware quantities listed above are required for proper assembly.
Some extra hardware may also have been included. y
230529YK-2 P.4



Step 1

Install the cam bolt of the base plate and panel with the grooved side up on the floor,
then press the wooden dowel into the hole directly.

Step 2

Place the holes in the side panel and front bezel with the cam bolt on the top
plate, then from the side install the cam lock,the arrow of the cam lock is in the
opposite direction to the screw hole.




Step 3

Gently insert the back panel along the
groove of the side panel, align the slots
on the bottom plate and push them all
the way in. Then locate the marked holes
in the side panels and install right angle
connection buckle.

Step 4

Align the holes of the panel with the side panels and the cam bolt of the front bezel.




Step 5

Locate the bottom plate on
both sides four holes,
mounting reinforcement
screws, after completing

the installation of the screws.

Make sure the L-shape feet
are placed in the proper metal
holes with screws.

Step 6

Turn the cabinet over to make
the top side is facing up.

Press the small corner code
of the back panel into the gap,
and align the holes of the
corner brace, then fix it on the
bottom plate and the panel
with screws.




(

Step 7

Push the round end of the shelf holder into the hole at the same level as the side plate and insert it
into the shelf plate.

4PCS
11

o

Step 8

For installation of the door hinge, pay special attention to the order of installation hole positions:

1. Install the A1 screw hole first, adjust the height of the cabinet door until it is flush with the cabinet
itself, and then tighten the A1 screw hole;

2. If the height of the cabinet door cannot be adjusted to be flush with the cabinet itself after installing
the A1 screw hole; Please remove screw A1 and install screw B1;

3. Finally, install the four fixing screws C1, C2, C3, and C4;

In addition, the other three "door hinges" can also be installed one by one using the same method.
Tips:If there is a large gap between the door panel and the cabinet, Please adjust the D1 button.If
there is a large gap between two doors, please adjust the D2 button.




Step 9

1.The ball nut is screwed on one end of the WIA rope through the fixing baseplate,
and then the fixing baseplate is installed in the marked hole of the side panel.

2.The other end of the WIA rope passes through the fixed bottom plate and screws
on the ball nut. According to the hole spacing of the fixed base plate, open it in
advance on the wall 8 mm hole, drive in the expansion pellet, and use screws to
mount the fixed bottom plate on the wall.

AN

ANSRNANNNY

Final Assembly




